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OMB SYNOP U (Used: 314)

mean: 0.8160 rms: 1.8448 std: 1.6546
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OMA SYNOP U (Used: 314)
mean: 0.1091 rms: 1.1981 std: 1.1931
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OMB SYNOP V (All: 608)

mean: 0.2383 rms: 1.1882 std: 1.1641
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OMB SYNOP V (Used: 310)
mean: 0.4673 rms: 1.6641 std: 1.5971
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OMA SYNOP V (Used: 310)
mean: -0.0135 rms: 1.3329 std: 1.3328
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OMB SYNOP T (All: 761)

mean: 0.2857 rms: 1.1080 std: 1.0706
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OMB SYNOP T (Used: 400)
mean: 0.5435 rms: 1.5283 std: 1.4284
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OMA SYNOP T (Used: 400)
mean: 0.2270 rms: 1.3603 std: 1.3413
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OMB SYNOP Q (All: 686)
mean: 0.7211 rms: 1.3865 std: 1.1842
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OMB SYNOP Q (Used: 346)

mean: 1.4297 rms: 1.9522 std: 1.3293
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OMA SYNOP Q (Used: 346)

mean: 0.9955 rms: 1.5646 std: 1.2071
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OMB SYNOP P (All: 755)

mean: 0.2195 rms: 0.7202 std: 0.6860
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OMB SYNOP P (Used: 387)

mean: 0.4282 rms: 1.0060 std: 0.9103
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OMA SYNOP P (Used: 387)
mean: 0.2135 rms: 0.8904 std: 0.8644
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